MATH 1200 - ExaM 2A g@ qué fans Spring 2014

Name:

Show ALL of your work for full credit. Simplify your answers as much as possible. Each problem (as well as
each part) is worth 6 points unless otherwise specified.
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3. Solve x*+10x—2=0by completing the square.

s,

-Qc«g.,.\.\rﬂgﬁ;#._ = s — o=
s [t (B = &HED Ay Bl e PR
' & —_ 5
I I o - R
i ’_F_—j/ - et |
%

- g X

=B A

4. Use the Pythagorean Theorem to find the possible values for x. Circle the correct value.
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5. Solve each inequality. Write your answers using interval notation.
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6. Write the standard form of the circle with center (2, —1) and radius 3. Clearly sketch the circle.
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7. Solve each equation.
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A. 6x%=24x B. V3x-7-V4—-x=0
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8. Evaluate f(x) = x? + 4 for the given values of x. Simplify as much as possible.
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9. Consider the following graph. [6 pts. total] Ay
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10. Find the x and y intercepts of 2x + 7y = 28.
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